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o At_t’empt AIIII QUestions.v
All questions.cérny‘ eqnal, marks. | .'

1. (a) Deﬁne cos£ mnnagemnnt an’d strategic cnst management.
Discuss the factors inﬂuencing cost ménagément in "an
organi_zation. : - ' N ‘ _ -,IIO .

' :(b) Explain the advantages and disadvanfagns.of Activ‘i.vty-
Based Costing'(A.BC). N o 10.

o . -~ pTO.
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(@) 'What is Activity-Based Management (ABM) ?.Discuss .

the different techniques of ABM. .- 10
() ~ What are the.features-'of Total Quality VMana'gement ?
Exp.lain different ,type$ of ~qual_ity costs. o 10
.Di'sti‘n'guish between trad‘i!tiona.l bud‘g'etig.lg and _Aétiyity-Based: -
Budgeting ('ABB). Discuss the steps. _redui}ed in preparing an-
Activify-Based Bixdget. o o T 20
~ Explain the key principles of target costi_n.g. Discuss. the
" advéntagés and lirﬁitatiqﬁs of target., costin’g.f' o 20

* Discuss the following' teAchnique's‘of‘.cost management : 20

'('1) - Kaizen costAing' .
(ily. Benchmarking =~

(iii) fLife cycle costing.



(3 2886
- Or -

.

Explain different linkages in value chain' analysis. Discuss the
importance of value chain analysis and steps needed in value

chain analysis. oL ' . ]

Distinguish between JHIT and traditional apérbac‘h to inventéfy
. management. What a;re the kéy eiément-s in .impie?ne'nting "t
manufactgring ? Ekplain how an organizatiop benefits _from
| JIT system. - ) ' ‘ ‘ 20
Or
What is Theqry of Constraints '(_TOC).;? What arg t}_ie different |
stebs in TOC ? Discuss th‘evadvantages‘ 6f TOC i_'n‘improving
organizational performance. S 20 _
XYZ Ltd. manufaéﬁxres four products, namé'l&, A,B,C, and D usi_ng
the'san.*le plant and proc'ess._ The following inforrﬁation r‘elates'

to a production period :

PTO. -
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Product - ‘A B ¢  »
Output.in‘wnits . - . 70 600 480 504

b-Cost per:'unit" L 'Rs." Rs. , Rs | _ Rs.

Direct Material o ’>,42 A45. B I
l.),'irectL-abour_‘ ]0 9 g g -

. Machine hours per unit 4 hrs _3'-h'rs.> 2 hrs. -, Thr.
,,The four products are SImllar and are usually produced in

,productron runs ‘of 24 units and sold in batches of ]2 units.

'The company is using machme hour rate currently Wh]Ch absorbs

the productlon overheads The total overheads mcurred by the

,‘ company for the penod is as follows :
“Rs.
Mac_hine ‘Operation .and maintenance cost . .. 63,000

Set up costs - o 2'0,000_‘_

Store receiving_ R D '--_15,000'
Inspection.-__ D o - 10,000

'Mate_r'_ial Han'dli_n’g'and dispatch -~ - 259 -

y
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During the petiod the following cost drivers are to be used for . -

fhe’ éyérhead cost |
Cost

- Set up cost

Stbre ‘reéeiving
lnspection-

Material handling and dispatch

It is also determined that :

. Cost driver
‘No. of pro.duction' runs
“-Req,uisition raised .

No. of production runs

Orders executed -

e Machine operation and maintenance cost should be -

apportioned between set-up cost, store receiving and -

inspection activify in4;:3:2.

e Number of requisition raised onstore is 50 for each proddct

and the no. of order executed is 192, each order being

for a batch of 12 of a product.

PTO.
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(@) Calculate the.t'ota.l‘cost.of each product, if all overhead
cos'ts,'are ?Bsorbed on méching h‘bur rate basis...“

(bj Célgu'late the xﬂdtdl f:'dst.of -edch pr(')ductv using act_i_vify |

" based costing.

'

(o) ." Comrﬁént brieﬂy on differehcés 'discvi]osed between over-

. ,hea'dv traiCed bx bresent syst¢m_ _%md thosé traced’by activity |

. basedv cogvtji'ng."‘ o o e 20
. Raymond Fibers Ltd. sﬁeciali'ze; in themam'J’facture'of synthetic
 fibers .that. the éo'mpény uses '»in"m’érrly products s_uch» as-blan-
kets, _goafs, énd uqifo’r‘_m; for Vpbl‘icé "c’md 'ﬁreﬁghtef§. Raymbpd'
.has ’l‘)een in b\us'i’ﬁess'sirilée 1975'.a‘vndb haﬁ'Been ";-)rof;table every
_ .* yeai‘? Sjncg i983, The ‘-éon‘xpany'useAs a sta-ndar_d  qos_t'sjste_m and

applies overhead on the basis of direct labour hours.

13 - . \



(7). 12886 -

Raymond has recently received a request to 'bid (;n the maﬁu-
facture of ‘8,00,000 blankets scheduled for delivery to sevefal
.military basés., The bid must be statgd at full cost vper unit pius
a return on full cost of no more than 9% after iﬁcome tE.lXCS.‘
< Full cost.‘hés been- deﬁned‘as iﬁcluding aI'l vgriablel costs o% o
manufactﬁring a product, a reésonable "am'ount of fixed over- _

head, and re'asonab!é invcremental. administrative cost assOciateci
with the manufacture and sale of the product. The contract;)r

has indicate that bids in excess of Rs. 250 per blanket are not -

likely to be considered.

In order to prepare the bid for the'8',00,000 blankets. Rahul, cost

accountant, has gathered the following information about the -

*

costs “associated ‘with the production of biankets -

PTO.



D'irect'matcrial*_ ‘
'7 N ) ) } .
Diréct labour”
Direct machine costs*
. 2. *
_ Variable overhead °

L
Co.

Fixed overhead ,

Voo

Incremental administrative costs .

‘Special fee**
Material usage -

* Production rate

Effective tax rate
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A

Res. 70 pér hour.

R§:, 100 per blanket

Rs. 25,000 per 1,000 blankets

~ Rs..5 per blanket

E

- 6 pounds per blanket -

h) . ‘
- hour

40%

* Direct machine costs consist of items such as special . lubri-

cants, replacements of ‘needles used in stitching and- mainte-

. . ™ B
N .

“nance costs. These costs are not included in the normal over-

" head rates.

1

" Rs. 15 pér pound of _ﬁb'ers- '

Rs. 30 per direct labour hour ~ -

. Rs. 80 per direct labour hour

. 4 blankets per direct labour .

L alt: WEFY
PO
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#* Raymond recently developed a new blanket fiber at a cost

of Rs. 75,00,000. ln_an effort to recover this cost. Raymdnd has
instituted .a‘po'licy of adding a Rs. 5 fee to the 'cost" of each ‘
blanket using the new fiber. To date, the’company‘had
’ ' l ' ‘ .‘ L v
. recovered Rs. 12,50,000. Rahul knoWs' that this fee does not ﬁt

within the definition -of full cost, as it is not a cost of manu-_

«faéturing the product.
Required‘ :

() _Caléujate the minin’mfn pnce per blankvetvth_'at 'Raymond .
.could bid without r;educi;lg': thé compan);’s :c;'pe;rating -

i

income.

(ii) Using the fuli cost criteria and the. maximum allowable .
“return spediﬁed, caléulate Raymond’s bid price per
blanket.

P.TO.
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Without prejudice to your answer to Requirement 2, assume -

. that the price per blanket that Rayménd calculated using

~ the cost-plus criteria specified is gre,ater_than the maxi-

~ mum bid of Rs. 250 per blanket allowéd: Discuss the factors

" that Raymdnd should .cbnsider before deciding’ whether

' “or not to submit a bid at the m'axim'hm acceptable price

2886

of Rs. 250_pé|iblanket. S S ’




